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Problem solving (maximum points: 10) 
Points: …….. / 10
a) Tn: …………………… (2 pts)
b) P1: ……………………, P2: ……………………, P3: ……………………, P4: …………………… (4 pts)
c) TSTD: …………………… (2 pts)
d) …………………… mins (2 pts)
In the calculation of the final grade, we will multiply the points with 7/3 (though the 30 point will count as 70) for the first time test-writers. For re-takers the multiplier is 10/3 (thus the 30 points will count as 100%) .

Multiple Choice (only one answer is correct)

	1. 
	One of the following is NOT a function of Human Resource Management.

a.) To enable the organization to achieve its objectives.

b.) To take initiatives and provide guidance and support on all matters relating to its employees.

c.) Creating appropriate environment for working effectively and realizing the potential of people and the organization.

d.) Provide openness, ability to drive change.

	2. 
	Asking the applicant about past performance to predict future behaviour

a.) behavioural interview 

b.) situational interview
c.) critical incident interview.

d.) psychometric interview

	3. 
	Top managers usually have some HRM functions. One of the followings is an example of that:

a.) strategic HR planning

b.) operational HR planning

c.) job design

a.) job evaluation

	4. 
	What is SHRM?

a.) Systematic Hiring and Recruitment Method

b.) Soft Human Resource Management 

c.) Strategic Hiring and Recruitment Methodology

d.) Non of the above mentioned.

	5. 
	What is labour turnover analysis?

a) The analysis of the numbers of people leaving the organization and the reasons why they leave.

b) The analysis of the turnover per capita in an organization.

c) Measurement and analysis of the number of people likely to be available from within and outside the organization.

d)  Both a and c are correct.

	6. 
	… theory of motivation focuses on the course of motivation (goals, expectations, perceptions), while … theory states how motivation can be used to satisfy business needs.
a.) content, process        b.)     process, content    c.)    equity, satisfaction    d.)     performance, satisfaction

	7. 
	Job performance is a function of …

a) …ability

b) …motivation

c) … job design and job evaluation 

d) …ability and motivation 

	8. 
	If somebody likes his/her work and wants to be the best in his/her job, and does great effort to reach this...

a) than it is a case of intrinsic motivation

b) than it is a case of extrinsic motivation

c) than it is a case of short-term motivation

d) than he/she is motivated by safety needs, according to Maslow


	9. 
	Total Reward =

a.) …relational rewards + non-financial reward

b.) …total remuneration + non-financial rewards

c.) …base pay + contingent pay + employee benefits

d.) …base pay + contingent pay

	10. 
	Which of the following selection techniques has the greatest validity?

a.) Assessment centre

b.) Graphology

c.) Typical job interview

d.) Structured job interview


	11. 
	Are psychological contracts formalized?

	
	a.) yes 
	b.) no
	c.) sometimes
	d.) only in large firms

	12. 
	Why is the introduction of new employees (after the selection process) very important?

a.) to shorten the learning process and reach the employees expected productivity as soon as possible

b.) to maintain  the company’s good name, treating all applicants fairly and honestly

c.) to create and maintain interests

d.) it is not so important

	13. 
	Work experience and on-the-job-learning are…
a.) non-financial rewards.
b.) not included in the total reward.

c.) included in the total remuneration.

d.) are employee benefits.

	14. 
	Employee Stock Ownership Plans (ESOPs) are designed for:
a.) long term motivation of employees

b.) short term motivation of employees
c.) direct increase job-satisfaction
d.) both b.) and c.) are correct

	15. 
	What is the main difference between profit-sharing and gain-sharing programs?

a.) profit-sharing can be used for managers, gain-sharing for workers

b.) profit sharing is a pay connected to profit, while gain-sharing is connected to productivity

c.) profit-sharing is paid in cash, gain-sharing is a non-cash benefit 

d.) profit-sharing can be used for white collar workers, gain-sharing for blue-collar workers

	16. 
	Which factor is NOT the part of the Michigan School HRM model?

a.) Performance management
b.) Secretion 
c.) Rewards
d.) Development of employees  

	17. 
	The Job Characteristics Model does NOT include…
a.) skills variety
b.) role/job autonomy
c.) social status / recognition
d.) feedback

	18. 
	Which one is a type of an HRM policy?

a.) Employment and management of interests
b.) Work-role equality 

c.) Engagement and participation 

d.) Work-life balance

	19. 
	Which technique is used during role analysis?

a.) Assessment centre
b.) Usage of self-management groups 

c.) Ranking technique
d.) Observation of role-holders 

	20. 
	Critical-incident technique is…
a.) A special way of eliciting data that is related to examples of actual events
b.) A type of autonomous group work with a facilitator

c.) A technique using questionnaires 

d.) Is the other name of observation


Problem solving

4 workers are employed in a workshop. The time that is needed to perform a given task by every individual workers is measured. 

1st worker: 11 mins; 2nd worker: 15 mins; 3rd worker 14 mins; 4th worker: 10 mins. The performance of the 1st worker is considered to be 100%. 

a) Determine the normal time (Tn) of the task.

b) Compute the performance rate for all the workers (Pi) based on the normal time.

c) Calculate the standard time (Tstd) if the personal time allowance is 5%, the fatigue time allowance is 10% and the delay allowance is 2%. 
d) How many times will it take to repeat the task 10 times for a worker with 110% performance? 
Solution
Multiple Choices
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Problem Solving

a) Tn = the observed task time (TOBS) of a worker with 100%. That is the first employee, thus Tn = 11 mins. 
b) P1= 100% (it was given in the exercise), P2= 11/15= 73%, P3= 11/14 = 79%, P4= 11/10 = 110% 
c) TSTD= 11*(1+0.05+0.10+0.02) = 12.87 mins 
d) A worker with 110% performance, the task will take Tn/P = 11/1,1 = 10 mins. So, the total time the 10 repetitions needs is (number of repetitions)*(1+APFD) = 10*(1+0.05+0.10+0.02) = 11.70 mins.
